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1. gsdmmgsmgo a=3i-2j+k ©> b=3i+4]+5k 39dBHmOBOL : 5) LIsEOIO
Bs0Mogeo;  d) 3990 b330l 3NMOODBsGHIO0; @) 3Mbg  39dGHMOYOL TmMOU;
©) 39J&HMM9dBY 5390990 L5MPYEOL FoOHNMBO.

2. 03mggm  df /9x-0b 3608369 mds (-151) GodGHowdo, ovy f(x,y) = 4x3 + 8xy? +y — 12.
3. 03mggo grad f (L-2), o f(xy)=xy*+x +2y*.

4. 5) 030390 B5Fos30L LR t 33es0l Bomomgdwyeo 3603369wmBOLMZ0L, ™YY
Bofoeszo 8md@msmdl Bmagdmmo  F(t)=2sinti +(1+3t) j+ (3 -4k, t=0 3mbogool 39d@mGob
d9L505d0bS.

) 030390 b65{oes30L 9BJoMgds t (33Ol J000mgdYEo 360d369wMmdOLEM30L, vy
BoGoogo dmdmemdl m3gdmwo  V(t) =2t +(4—t2)]+(6t+2t2)k, t=1 LoBdsGoom.
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5. 5) 59035 gD MOXIHO 0B6BJMIO JsOMITb 569BY: j I (Xx+y+1)dx dy.
-1-1

12
0) 358Mm35 g MOR IO 06FYAM0 FoMmMmbo 569BY: J-J. 2xe’dy dx .
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6. 39mmzgowgem F =—6Xi +Y°] + 7K 35d@mtvmo ggemols ooggtagbaos div F .
7. 030590 F = (X% + y2)i —e*] +xzK 39d&oeol Gmgmto curl F .

1+ 2i
2-3i

8. 03mg9m gobsgmgo:

9. a59mmzogm Ic (x* = y*)ds 06&9a@sewo @ =2costi+2sintj, 0<t< % Fool
3oLH3Mog.
10. 53mbligboo 8y’ - y = 0 306390 Gogol §653030 0BIMIBE05XMO 3o6EMEIds.

11. 03mggo -1 — J3i 3033 gdlmEo HoEb3zol Mo s sGMdgbdo .
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12. 03mg90  y =4y '+ 3y = 0 ©oxgHI6E05@MOO g5bEHM@YBdOL dsbsliosmgdgwo
396@™9ds s oo gqliggdo.

13. 03m390 ¥ =3y '+ 2y = 0 ©0x39H36305@ M0 256EHM@YBOL By 53MmBsbLGO.
14. 030390 y =y =0; y(0)=1 ¥(0)=—1 Lsfgob 3063530560 533560l 53mbsblbo.
15. 03mg900 y"+2y' +2y =0 a56@magdol Bmgso s9mbsblbo.

16. 03mggo Y +Yy —2y =6X—5 356@m@9dol Dm0 s3mbsblbo.



